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Any .suhset U.f a linearly independent
{a) Linearly mdependent

() Neither linearly dependent nor independent

follow the instruction

Regular 15x2=30 / Private 15x1=15

(@) awm: v
(=) 7 & 9 7

set 1s -

(b) Linearly dependent
{d) None of these.

9. wRE T V, (F) ¥ srqqg @y. ay) & (b,, b,) Yerke: me= A afy s Faw ft -

1 s (a
E:Ii tiefe:menL @y, ay) and (bl’ bz) of the vector space V, (F) are linearly independent if and

@0, 837016,=0 Mgy, ~b b,#0 () by -ayb=0 (@ ayby-ayb,#0

3. HﬁVtF}leﬁaTﬁUEﬁwmﬁa’rvﬁﬁﬁF@fﬁmﬂrﬁffW:
(@) EERIAETE  (F) e den AR Y  (6) o sen A 2R ¥ (2) o @ w A |
If VIF) 1s a finite dimensional vector space, then the number of elements in any two bases are:
(a) Even In numbers (b) Equal in numbers (¢) Odd in numbers  (d) None of these.

4, wr A U R VF) @ sk anfe ¥ &1 £ U o V gafier & o9 -

(w) fOT 7 (3) f Y s ¥
(%) f-OHFT sTreoTe o Yaw } (z) % & B A |
Let UiF) and V(F) be two vector spaces, then f: U —V is an isomorphism when :
(a) f is a one-one (b) f is one-one onto
(c) f is one-one onto and linear (d) None of these.

5. 7% T:U - V i sfafwsor & 6t R(D)
() U &1 Jueafe § (@) V F7 Jraeie &
(9) U sraar V 7 Igemfe (z) 3 & A 7 |
If T:U -V be a linear transformation, then R(T) 1s :
(a) a subspace of U (b) a subspace of V
(¢) a subspace of either U or V {d) None of these.

6. TR % A wurer T # e we AR A T s o 2

If £ is the eigen value of an invertible transformation T, then eigen value of T!is:
(a) £ (b) £ 71 (c) A ) 0
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; (a) sreafirer st () " [}'Q\ -1
7. R Rf & (@) Wgth"d 38 ¢ (¢} Very fast @\, " 'i-,,. ‘k‘
(3?) ergence in bjsectiﬂﬂ n:jfﬁ-tjc . nce value Of.f\f(.rk] ig - Lr.&' %) ' I
The converg () Quad™ | giffere o,

nfor\'.'ﬂ-r [b] f{x‘ki-h] —f(xk]

(a) Linear oy 1
8. aw FRTC W Af (xy) F AT EL ) fa) - f &+
f.
(a) f(x, - h) -fxg) ual notations choose '
] h . £
(¢) flxy) —f x5, - 1) =mt}Teus:1+V d r_%r?e
h A () E TR Ty
9, mﬁmﬁﬁa’fﬂl*?@fwﬂl-j Vg
@E=1+4 (b) E= (a)wf'ﬂﬁ‘ -.
10. *Mtaw-Rreirer Ry ¥ - (a)g:ﬁ‘ﬁfﬂf?ﬁf
(37) sy Ffy 8
(%) grergfer Ry (b) Indirect Method
Gauss-Elimination Method is : None of these.
(a) Direct Method @ .
(c) Iterative Method mm% :
11. ﬁg Wﬁlﬁ?ﬁ Htiﬁﬁr W A= (ﬂu] M}Jﬁ ngn-siﬂEuJﬂr lf :
A real square matrix A = a,)is & t ) |Al # 0 )
@ (b
(a) [A] = ¢ @ : X TS ¢ | None of thes;,e 4.
) |A] = 1 ) ’
12, %f.ﬁm .
fafer %% . 1 Cholesky Method : ; LT: A
(a) L1pT_ (b) L+ &N
(e) LLT . 5 (d) EC ¥ 7 | None of thege
13. oftpeor 4 ST qF B
_ ﬁ*f(x,yim%y(xo)zyﬁﬁa‘mzﬁ v .
Milnes Corrector Formula for the solution Gfé:f (x,y) when ¥ (%) =Yg is 3
{ -
aJy4Ey2+&/3ﬂf'2+#3+f4) [b}fiﬁyﬂi_h'/ﬁ(fﬁ-’-éfsd-f‘;)
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Si ’
(ajngjlshﬁfc ‘?;i;’;hird formula is algo called :
ula (b) Parabolic formula (o) Hyperbolic formula (d) Cubic formy,
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(a) 1
(C} ca &) 0 Pau
: Ad) o
@ ¥ Y IEHT Sect; _ Y | None of these.
1, Rra %Q’ B 100 B : Shopt Answey Regulas
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ove that if “ﬁﬁ AW
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A e it E R cat i
% il o f V2 (R) =V, @) 3= {;3_3-'3) e 3. ; » ﬂ.lﬂ;nom yransformation.
| Show that the mapping/: V, (R) - V,, (R) dofined by f (¢, ) = (< y) 13m0t 87
smgar OR o T % X f
of¥ &I /2 R2 5 BRI oft aftenf¥e ¥ £ (a, by = (@ ~ b, b -~ @, ") ¥ 30 R @F 2 €

qure AT A w AR ¢ o beR is a lincar
If "'“;o"”‘"t‘*.f“"maﬁon FiRE 5 R defined by f(a.b)=(@~bb-a =M T ©
transformation then find range and nullity of /. .

: 0 ¥ & N AT g s -9

g - YEET B R gry & progfy 3w whm o2+ 4sinx=
T -2 ¥ wOrT ¥ W Hifeng |
Find the real root of the equation x* +4sinx=0 wi
Ngwwn-Raphson Method, Perform two iterations.

— mg
th initial estimates -1.9 and 2 us

smETr OR
frer TN & FagW v s T : Find the missing value in the following table :
* ; 1 2 3 4 5 6
f@ = 8 3 o -1 0

4, afew AE ffr & & o - Solve by Gauss-Elimination Method :
l‘ 2?"3’*37‘:9-x+y+z=6,x—y+z:2
Fgar OR
W-mm%m%ﬁ@mﬁﬁqﬁmwkmﬂﬁﬂﬁm& o iterations:
Solve the system of equations by using Gauss-Seidel Iterative Method. Perfo .
20x +y - 22=17
3% + 20y -z =-18
2x — 3y + 202 =25 : 2 (h=02 ) \
5 ﬁ*@'{mﬁ#ﬁ%ﬁ&%maywyﬁx=1zxmmm.wvgﬁdx:m:& (Take
" Use Runge-Kutta Method of fourth order to solve y' =xy for = 1.2 mmaually
h=0.2)

B —

suEr OR

| g - A wwent P Ry e B |
Derive Trapezoidal Rule from Newton-Cote's Formula.

qwe 9 fif Iad™ Section C : Long Answer Regular 5x1

1 MW%WWWF)%@WWW%@VNHW
@mm%: W of a vector space
Prove that the necessary and sufficient condition for
V(F) to be a subspace of V are :

(@ aeW, BeW=0-fecWand
) aeF, ae W=a0e W

4=70 | Private 5x18=90
2 ¥ Y AEET

a non-empty subset

argar OR

ﬂﬁwlsﬁtwgqmﬂﬁawmmwmaﬁamﬁﬁ%ﬂﬁzﬁlh e
If W, and W, are two subspaces of a finite dimensional vector space , then prove that

dim (W1+W2]=dimwl+dimwz-dim(wl
0. wufet 5 frer sage A Rrwffr § : Show that the following matrix A is diagonalizable :

NW,) https://www.davvonline.com

1 0 -2
A= 0 0 0
- -2 0 4

sgar OR

Ry T AT & Fae fag Sk frg FiRT |
State and prove Rank-Nullity Theorem., :
P.T O
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~0.05 ¥ [y 3 A QT ¥
st s e iy = 0,0 =1 & 1% 0 SR
d.

T T ¥
/= 0.05) = 0.05. Given that <= _ My
Use modified Euler’s Method to computey for % TRy wigy, *“\

Xy =0, v, =1 (Take 4 =0.05 1
{ 0 ayar OR tla'lclh]di

1
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» - 1 . 4 ] |
Evaluate the integral fﬂ I—i% using Gaussian Quadrature FOHDUI& for thy
€e org;
lnates
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